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Eight persons Nainika, Virat, Vani, Vaibhav, Nakul, Viji, Namith and Naresh are sitting around a square
table, four of them facing towards centre while four of them facing outside but not necessarily in the
same order. Vaibhav sits fourth to right of Naresh. Vani is sitting immediate right of Vaibhav. Only one
person sits between Namith and Vaibhav and both are facing same directions. Namith sits fourth to the
right of Viji, who doesn’t sit in middle of the table. Viji is not a neighbour of Naresh and faces towards
the centre. Vani sits adjacent to Namith, who faces opposite direction of Vani. Nakul is to the
immediate left of Vaibhav. Virat faces opposite direction of Vani and sits second to the left of Vani.
Nakul is sitting second to left of Nainika, who faces same direction as Viji.

313 safad Afere, favre, aroft, dera, s, RS, affrer st v tw aeR A9 F aRi AR AS T, 37
A IR e T 3R 37T § TAdfh 373 U IR 9187 HY 3T 3+70@ & Afhet 3T« 181 sd FHA F &
dora AT F e @ 1Y AT ax dor Y| Aot Yorg F S e A6 ¥ ARy s dw F Aw FaawH
cgfad 9371 § 3R 1) 1 7@ AT femit F 3 gl ART AN F e A ol U wWadarg, AT F
ey & aigt dot 1 RSt ¥er 1 g2 w1t & 3 sHHT 7@ e 3 Y| aroht ARG F drEeT 36 Y,
forasr 7@ aoft & Radia e & 31 a5 3 & SF a3 8| e Fag aoh & Rada Rara e
3R 7 aTof & aT0 ¥ gEY TUTA W o181 e, Mot & A1C ¥ g@t T W dor ¥, o 7@ fash
& GATT G A 81 T il
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Eight persons Nainika, Virat, Vani, Vaibhav, Nakul, Viji, Namith and Naresh are sitting around a square
table, four of them facing towards centre while four of them facing outside but not necessarily in the
same order. Vaibhav sits fourth to right of Naresh. Vani is sitting immediate right of Vaibhav. Only one
person sits between Namith and Vaibhav and both are facing same directions. Namith sits fourth to the
right of Viji, who doesn’t sit in middle of the table. Viji is not a neighbour of Naresh and faces towards
the centre. Vani sits adjacent to Namith, who faces opposite direction of Vani. Nakul is to the
immediate left of Vaibhav. Virat faces opposite direction of Vani and sits second to the left of Vani.
Nakul is sitting second to left of Nainika, who faces same direction as Viji.
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Vani 1. Who among the following persons faces the centre of

Yalhar 3 — the table? Fifaf@a & ¥ frw =afFa =1 7@
} AT & Fg T AT §7?
A. Naresh B. Virat C. Nakul D. Vaibhav E. None of these

Nakul PR T > Virat

2. Who is sitting immediate right of Naresh?
# t - AT & S g FiT da1 872
/ Naresh A. Nainika B. Virat C. Vani D. Nakul E. None of these

Nainika

Viji

3. Four of the following five are form a group in some way,

find out the odd one?ﬁﬂ?lﬁlﬁﬁ' g JH 9 IR R
e ¥ Th A 91d g, AW F1 gar «eme?
A. Nainika B. Vani C. Viji D. Nakul E. Virat
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Vani

v Namith 4. Vani is related to Nakul and in the same way Naresh is

l Y related to Namith then which of the following is related to
Viji?

qrofl FFe § Faftd ¢ AR 36 g N Ay @

ko > Virat Fafld § o Pfa@a § ¥ Fiv [eh ¥ gafdd

g7

K ¢ e A. Vaibhav B. Naresh C. Both Vaibhav and Naresh D. Either

Vi Naresh Vaibhav or Naresh E. None of these
Nainika

5. Which of the following statement is/ are true?
fAmfaf@a & ¥ #la /R s I TVE?
A. Vani is facing outside the centre

B. Virat is facing towards the centre

C. Naresh is facing same direction as Vaibhav

D. Viji is sitting immediate right of Nainika

E. None is true
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6. Statements: T<P<U;L>U<K;P=2R 7. Statements:H=1<R; M 2 R<S
Conclusions: Conclusions:
LEKZR I. M=1
H.L>R II.M>1
A. Only conclusion I is true A. Only conclusion I is true
B. Only conclusion II is true B. Only conclusion II is true
C. Either conclusion I or II is true C. Either conclusion I or II is true
D. Neither conclusion I nor Il is true D. Neither conclusion I nor II is true

E. Both conclusions I and II are true E. Both conclusions I and II are true
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8. Statements:D>H=2N;S>I<H 9. Statements:P<O<I;P>Y>W
Conclusions: Conclusions:
I.LN<S L.Y<]
II. N<D I.LO>W
A. Only conclusion I is true A. Only conclusion I is true
B. Only conclusion II is true B. On|y conclusion II is true
C. Either conclusion I or II is true C. Either conclusion I or II is true
D. Neither conclusion I nor II is true D. Neither conclusion I nor II is true

E. Both conclusions I and II are true E. Both conclusions I and II are true

10. Statements: A=2B>C=2F;, Z<C=<D<E
Conclusions:
LA >:2
II.F> E
A. Only conclusion I is true
B. Only conclusion II is true
C. Either conclusion I or II is true
D. Neither conclusion I nor II is true
E. Both conclusions I and II are true
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There are three generations in a family of ten members. There are three couples in the family. A is

G’s grandfather. C is B’s daughter. H is E’s niece. F is I’'s mother. D is G’s father. J is B’s granddaughter
Every couple has a son and a daughter. D is J’s uncle. & SET & Th IRaOR & i tﬁﬁTIT

gict 81 9RaR & dfisr IS F1 A, GFT a1&T 81 €, BHAT T §1 H, EFr rclisit B F, | Y AT
¥ D, GHT Rar &1 J, B AN ¥l & L FT v deT 3R TH A {1 D, ) FT IFA B

11. How is F related to J?
A. Father B. Sister C. Mother D. Son-in-law E. Brother

12. How is B related to G?
A. Grandfather B. Grandmother C. Granddaughter D.
Grandson E. Son

13. How is D related to A?
A. Daughter-in-law B. Son C. Son-in-law D. Brother-in-law
E. Sister
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Statements: All mobiles are smart phones. Statements: All oranges are Bananas.
Some smart phones are gadgets. No banana is an apple

Some gadgets are cheap. .
No gadget is sim. All apples are fruits.

Conclusions: Conclusions:

I. Some mobiles are sim is a possibility I. No orange is a apple

II. Some gadgets are both mobiles and smart II. Some oranges are fruits is a possibility
phones. A. Only I follows

A. Only I follows B. Only II follows

B. Only II follows C. Either I or II follows

C. Either I or II follows :
D. Neither I nor II follow D. Neither I nor II follow

E. Both I and II follow E. both I and II follow
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Statements: All orange are red. Statements: Some trains are stations.

No red is black. Some black are blue. All stations are platforms. All platforms are
All blue are pink. tracks.

Conclusions: Some tracks are bogies.

I. Some red are orange is a possibility. Conclusions:

I. Some tracks are trains.
II. Some bogies are trains.
A. Only I follows

B. Only II follows

C. Either I or II follows

D. Neither I nor II follow
E. Both I and II follow

II. All blue are orange is a possibility.
A. Only I follows

B. Only II follows

C. Either I or II follows

D. Neither I nor II follow

E. Both I and II follow
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Statements: All pens are pencils.

Some pencils are boxes. No box is rubber.
Conclusions:

I. Some pencils are rubber is a possibility
II. Some Boxes are Pen

A. Only I follow

B. Only II follows

C. Either I or 1I follows

D. Neither I nor II follow

E. Both I and II follow
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'very large risk associated' is written as ‘nu ta ro gl’,
'risk is very low; is written as ‘gl se nu mi’,

‘is that also associated’ is written as ‘ta mi po fu’
‘inherent risk also damaging’ is Written as ‘fu nu di yu’

19. Which of the following is the code of 'damaging’?
A. di B. yu C. nu D. either di or yu E. None of these

20. Which of the following may represent ‘risk is very large’?
A. glminuro B.nugltase C.nuroseyu
D. ro gl dinu E. None of these

21. Which of the following is the code of ‘associated’?
A.nuB.poC.taD.fuE.gi
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'very large risk associated' is written as ‘nu ta ro gl’,
'risk is very low; is written as ‘gl se nu mi’,

‘is that also associated’ is written as ‘ta mi po fu’
‘inherent risk also damaging’ is Written as ‘fu nu di yu’

22. What would be the code for ‘inherent large risk’?
A. yuro nu

B. di ro nu

C.yufuro

D. di ta se

E. Either AorB

23. Which of the following may represent ‘low risk associated
industry’? A. ta nu giro
B. ta hi nu se
C. mitase fu
D. di gi ta po
E. po gise di
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A building has eight floors numbered one to eight, in such a manner that the ground floor is
numbered one, the floor above it, numbered two and so on such that the topmost floor is
numbered eight. One of the eight persons, viz, P, Q,R, S, T, U, V and W lives on each floor but
not necessarily in the same order. R lives on third floor. Only two persons live between the
floors of R and V. W lives on the floor immediately above the floor of Q. Only one person
lives between the floors of T and U. T lives above U. Only one person lives between the
floors of R and S. S lives on any floor below the floor of T.

UF SARA A 316 AfSTall HY HEAT UF A TS 3H YFK ¢ o T T U&IT TF §, 30 39T
Y Hirer Y &A1 Y ¥ 31T 58 e TR I ATSrer Y TE&AT 375 ¥ IS ATFAAT F A
U, 31919, P, Q, R, S, T, U, V 3iR W 93 ATSrer IX I@dT & Afhet 3maeas g sd A &
A RIATN AT R EATRIRIRVF T F AT FaarcaFaEa eI W, QF NF FW
A TR EATgI TR U F TN F T Fad T AFT@ATEI T,UF FRIEATEIR S
el & 1T Fdel T ATFT Ear gl 3R S. s, T & da F = ol AT W @gar gl
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24. Who among the foIIovgging‘Iives‘on the fifth numbered floor?
ffaf@d & O #i9 9ad FATR g dF W @dT 87
A.SB.QC.WD.PE.V

=INIWIASHIONIDAINIO

wnic|r|H|v|<lo|=s

25. Who among the following lives exactly between the floors of

gandS?ﬁmﬁﬁHﬁ#mRaﬁTsa;maﬁﬁw
?

A.UB.PC.VD.TE. W

26. Who among the following lives on the topmost floor?

fmfaf@a # ¥ Fla 7@ I8 #faa w war 2
A.TB.QC.WD.RE.V
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27. Four of the following five are alike in a certain way and hence they
form a group. Which one of the following does not belong to that group?

frafaf@d o & § 97 wF ARTa @@ & o § 3k safav
:apzwmﬁlﬁmﬁﬁaﬁﬁmmwwﬁma
?

A.RB.VC.PD.SE.Q

INIWIAIONID N
(ﬂCZ’—i"U<rOE

28. How many persons live between the floors of Q and U?

Q3 UF Tat & a7 Fas T ®a &2

A. None B. One C. Two D. Three E. Four

it
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A. The data in statement one is alone are sufficient to answer the question, while data in statement Il is
not sufficient to answer the question.

B. The data in statement Il is alone sufficient to answer the question, while data in statement | is not

sufficient to answer the question.

The data in statement | alone or in statement Il alone are sufficient to answer the question.

. The data in both the statement | and Il are not sufficient to answer the question.

. The data in both the statement | and Il together are necessary to answer the question

mo o

What is the code of ‘good’?

I. ‘energyis good’ is written as ‘763’ and ‘earth is round’ is written as ‘579’.

Il. ‘mistakes are good’ is written as ‘164’ and ‘mistakes are necessary’ is
written as ‘421’.
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A. The data in statement one is alone are sufficient to answer the question, while data in statement Il is
not sufficient to answer the question.

B. The data in statement Il is alone sufficient to answer the question, while data in statement | is not
sufficient to answer the question.

The data in statement | alone or in statement Il alone are sufficient to answer the question.

. The data in both the statement | and Il are not sufficient to answer the question.

. The data in both the statement | and Il together are necessary to answer the question

mo o

Among A, B, C, D and E, seated in a straight line; facing North, who sits
exactly in middle of line?

I. Asits second to the left of D. B sits to the right of C.
Il. Dsits in the right of E.E is not sitting on an extreme end.
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A. The data in statement one is alone are sufficient to answer the question, while data in statement Il is
not sufficient to answer the question.

B. The data in statement Il is alone sufficient to answer the question, while data in statement | is not

sufficient to answer the question.

The data in statement | alone or in statement Il alone are sufficient to answer the question.

. The data in both the statement | and Il are not sufficient to answer the question.

. The data in both the statement | and Il together are necessary to answer the question

mo o

Who among S, D, X, P and R is shortest ?
|.X is shorter than D and equal to P, R is not taller than S and D.
II.P is taller than R and equal to X. D and S is not shorter than X.
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A. The data in statement one is alone are sufficient to answer the question, while data in statement Il is
not sufficient to answer the question.

B. The data in statement Il is alone sufficient to answer the question, while data in statement | is not

sufficient to answer the question.

The data in statement | alone or in statement Il alone are sufficient to answer the question.

. The data in both the statement | and Il are not sufficient to answer the question.

. The data in both the statement | and Il together are necessary to answer the question

mo o

qguestion. How many students are there in class?

I. There are more than 20 but less than 27 students in the class.

Il. There are more than 24 but less than 31 students in the class. When the students are
divided into groups, each group contains five students.
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33. How many such pairs of letters are there in the word "RECOVERED" each of which
has as many letters between them in the word as in the English alphabet?

rsg "RECOVERED" & 37&8RI & W fhast s § oA @ v+ & &9 3d4 &
e’ § g & 3 aufamer &7 &7

OnN®>r
AN W R

E. None of these

it
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Meghna started from Point A, walked 7 m towards the West, took a left turn, walked 2 m and reached
Point C. She, then, took a right turn and walked 4 m to reach Point D. She, then, took a right turn,
walked 2 m before taking a final right turn and walked 3 m before stopping at Point B

Al g AR T qE FA 7, IRaH A AR 7 AT T@h &, 9w Fgeeh @, 2 A
Terelt ¥ 3 Rig c oY wEaeh 1 B, a7 ard s ¥ 3R g paw wdEe F @w 4 e
Tarc ¥1 R, d ard H3dh & HEar &, 3ifaw E e @ wge 2 M} T § 3k Rig B
W T ¥ TES 3 M Torar §

34. How far and in which direction is Point A from Point B?
A. 6 m towards West B. 8 m towards east C. 10 m towards East D. 10 m

towards West E. Cannot be determined

35. If Meghna walks 2 m towards South from Point A and reaches Point E,
which of the following points (including E) would fall in a straight line?
A.A,B B.A,D C.B,C D.C,D E.Noneofthese
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Ten people are sitting in two parallel rows having five people each, in such a way that there is an
equal distance between adjacent persons.Inrow 1-V, W, X, Y and Z are seated (but not
necessarily in the same order) and all of them are facing North.Inrow 2-F, G, H, | and J are
seated (but not necessarily in the same order) and all of them are facing south. Therefore, in the
given seating arrangement, each member seated in a row faces another member of the other
row. Y sits third to the left of W. The one who faces Y sits second to the right of F. Only one
person sits between F and I. H and J are immediate neighbors of each other. J does not sit at any
of the extreme ends of the line. The one who faces G sits to the immediate right of Z. X is not an
immediate neighbor of Z.

fraAET gl gl afFa 17 - v, w, X, v 3R 2 33§ (@t sl w18t & st o o o) silv 3T wsfh
FTHE ST PG IFT2H - F, G, H, 1 3171 33T (AT s 181 T st v ot ) s 31
T3l &1 7@ 0T A 3R ¢ SHAT, & 71 o Y TaTUT A, T UfFd # 38 TS S Ed &l
@ gudl Ui & gEy WEET F AR TN Y, W H a8 & ey e R der ¥ ag Ay A 3R s
Eag F & el @ qE v W AT ¥ F 3R 1 & e draer veh safFa o1 H IR TH G F
freds asit &1 ) 9fFa & fret oft 3ifasr s ww gt dor | g safFa N G Fr AR 3=xq@ e, 2%
P A dT 81 X, 2 FT Aheaq =1 7T &
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Ten people are sitting in two parallel rows having five people each, in such a way that there is an
equal distance between adjacent persons.Inrow 1-V, W, X, Y and Z are seated (but not
necessarily in the same order) and all of them are facing North.Inrow 2-F, G, H, | and J are
seated (but not necessarily in the same order) and all of them are facing south. Therefore, in the
given seating arrangement, each member seated in a row faces another member of the other
row. Y sits third to the left of W. The one who faces Y sits second to the right of F. Only one
person sits between F and I. H and J are immediate neighbors of each other. J does not sit at any
of the extreme ends of the line. The one who faces G sits to the immediate right of Z. X is not an
immediate neighbor of Z.
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PRITafRe & & FT HE 3 3o &7

i ?
SCiUth H ] = G 36. Who amongst the following faces H:
A.Y B.V C.Z D.W E. X

N%fth Y V Z w X 37. Who amongst the following sits to the immediate left
of the person who sits exactly in the Middle of the row

with south facing people? AFafaf@a & q =ia 39
AfFd & S a1 a1 § A AT AT IR HG FE
¥ it & @y 9fFT & S wew i dor §7

A.l B.H C.1 D.G E.F

38. Who amongst the following sits third to the right of

the person who faces X?mﬁﬁ' Hq T dlF XY
3R I7HT AT F g F Ny T W o1 372
A.G B.F C.J D. | E.H
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based on the given seating arrangement and thus form a

group. Which is the one that does not belong to that

group? ar 31?33? T STITUT & IHTYR W

Ndth Y V 7 W X fArfafEd oo # ¥ IR v AREgd s 9 g
g 3 W UFR UF WA d1d 81 9§ SieT AT § S

:ﬂrm#mﬁaﬁ%?
A.HB.|C.WD.YE. X

Sti”th H ) E @ 13 39. Four of the following five are alike in a certain way

40. Which of the following is true regarding V?

VEH gay # farafaf@a & @ «la a1 a7 82
A. None of the given options is true
B. An immediate neighbor of V faces F
C. X is an immediately neighbor of V
D. W sits to immediate right of V

E. V faces |

.
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There are eight family members A, J, L, X, K, D, M and F and they are sitting around a circular table and
facing away from the centre. Everyone is related to X in a certain manner — Mother, Father, Son,
Daughter, Brother, Sister and Husband. All the given information is not necessarily in the same order.M’s
neighbour is second to the right of X’s son. Three members are sitting between X’s son and L, who is a
male. J is second to the left of D whose neighbour is second to the right of X’s brother. A’s mother is
seated to the immediate left of M. D’s sister is seated opposite to F who is J’s neighbour. M’s father is
seated opposite to X. J is not X’s father.

IRAR F M TSETA, J, L, X, K, D, M 3T F § 3T I T gaThR AT & IRI R Fg
AT 7 33 ¥ v afFa v RTT TS T x & ST ¥ - #rar, R, 9,

)

o, 7€, aget 3R 9fy| &Y 1€ Tt SAAAHTY ITaRTH T X g HH F AG I M T

TSI X & T & &1 @ AT T W1 X & TF A L, I 0F [0 8, & 7T ofieT GG
S E1J, D& I A gAY T W §, Foraer Tard X & 318 & S F gaY T W A
ATMFSIFTT S gI DA TgAFF RAuiigdSrga I FTI=AIgI MF RAaTXF

RAT IS Tl ), X ST RTS8 B
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